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Instructions : N
i) There are seven questions in all in
~ this question paper.

ii) All questions are compulsory. .

iiij) In the beginning of each question, it
has been clearly mentioned that
how many parts of it are to be
attempted.

iv) Marks allotted to each question are
mentioned against it.

v) Start from the first qugstion and go
up to the last question. I?o not
waste your time on the question you
cannot solve.

vi) Write the solution on pages of both

sides of answer book. Write the
steps of solutions of all questions

.., SXCept Question No, 1.
vii) 'If You need place for
It on left Page of yo
and cross (

the solution

ur answer book
x ) the page. Do not write
on that page. :
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viii) Do not rub off the lines constructed m R YA (5 2)% mﬁ
- in a question of construction. Write , e

steps of construction in brief if | : g

) 61 i

oked | ) J6I % i) 37 s
) ‘Draw' neat and correct figure in i) V17 3 v) 3 THR 1

solution of a question wherever it is |

necessary, otherwise in its absence

M) B % U 99 F ww g g Beuee ¥

the  solution  wj I be~ treated ‘ - s 3
incomplete and @‘@\1 el = . €
wmﬁﬁqﬁ QQ;\Q’ | S EP S, 1880°xm2
TIF @og W§%{Q T e ; . 180
ot e v o - 6 0 .
\ TR foreq Seam 5y i) _x2nr i) -x2nr? 1
F SRR e - 360 720
®) AL 26, 156 1 wowo 156 ¥ & Hogo Fr T) [ wHEd B o ogenell @1 U
BICh ‘ 9: 16 ¥ ¥ P & awhed] 7 ST &
i 156 i) 26 ‘. iy 9:16 i) 3:4
) 18 N 6 1 i) 256:81  iv) 81:256 1
Q) fyEm g 2x2—4x+1=0é§‘q§[§ ) .,
, s ol d) A cosec A = sec A, 0°<A<90 g,
n LA T §
ii) At ik fig : ' .
i) e : 1200 i) 60° |
) ! : i) 45° iv) 30° 1
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5 822(AZ)
Do all the parts :
Four alternatives of the answer of each part
are given, out of which only one is correct.
Pick out the correct alternative and write it

In your answer-book :
a) If LCM of 26, 156 is 156, then -the

value of HCF is

i, 156

iii) 13 @Q 1
* b) Roots of %uadranc e¢quation

2x2 - 4x+l@re

i) Re equal

i) Realand distinct

iii) Not real

iv) Real 1
c) The distance between the points

(-1,-3)and (5,2)1s

i) J61 units i) J37 units

iii) V17 units iv) 3 units 1
d) The length of an arc corresponding to

a sector of angle 6 of a circle with

. radius ris
) 0 . 7 2
i) 180" x2nr i) 180° K
O o 9 _sonr?2 1
2nr v s X
iii) 360° Xan ) 790
95751 ook | Tusn over
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The sides of two similar trj

langles are °
in the ratio 9 : 16. The ratio of areas of
these triangles is

i) 9:16 ii) 3.4

i) 256: 81 iv) 81:256 1

f)  If cosec A = sec A, 0o° <A<90’, then
1gle A is equal to

i)y 120° i) 60°
iii) 45° iv) 30° |
2. | e Hifsw

®) 50t olell T WG qH ¥ 4 T F S W
fud wF fagst a% wgadl &1 TR F MR
q A & et T =t @ I st g

@) 7 aw T & g9 &t g #ifag
x+2y=19
-x+2y=1 il

M T W gdlE Sew @t a7 99 gy
SR $UE 8 T &1 Ao s
FINTE | 1
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Do all the parts :
a) A ladder 5 m long reaches a window

4 m above the ground. Fing the
distance of the foot of the ladder

from
the base of the wall, 1
b) Solve the following pair of linear

- equations :
x+2y=19
-x+2y =®\ 1
¢) The radius of a rightt Circular cylinder is

7 cm and verti eight 8 cm. Find the
curved surf: @jf cylinder. 1

d) Find the %@e of cos 46° — sin 44°, 1

3. F‘ﬁ@%a‘-ﬁ?‘%

F) W P 46), Tt A (-6 10) 3k
B(3,-8 )= foom ot Y@mEs &t g

A | forsford en & 2 f 2
q) fidiEd aeardr s @ agem W
- 3R 10-25 25-40 | 40-55
CIEEIrGil 2 3 7
\ 55-70 | 7o0-85 85-100
\ 9 \ 5 4
2
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) fog B 6442 T S gem 2
2
u)  fyom whe 9x? - 6x+1=0 1 fafawme

T HT R 7 et #Y vt e i
A o Al ¢, A IR I A9
3. Do all the parts :
a) In what ratio does the point
P (- 4, 6) divide the line segment

joining the points A ( - 6, 10 ) and
B(3,-8)? 2

b) Find the mode of the following
frequency distribution :

Class-interval 10-25 25-40 40-55
Frequency 2 3 7

55-70 70-85 85-100
9 5 4

2

¢) Prove that 6+42is an irrational
number, 2

d)  Find the discriminant of the quadratic
€quation 92 -6x+1=0 ang hence fing

the nature of the roots. Find them, if

they are rea] 2

95751

Download all NOTES and PAPERS at StudentSuvidha.com



http://studentsuvidha.com/
http://studentsuvidha.com/

9 822(AZ)

4. mﬁ@%ﬁm

T) T gl . F e HeE TR

)
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)

4. Do
a)

b)
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all the parts :

Find terminating decimal expansion of
129

2°x57
A solid is in the shape of a cone

standing on a hemisphere with both

their radii being equal to 3 cm and the
height of the cone is 4 cm. Find the

" total surface area of this solid in terms
of 7. ‘2,

rational number 2
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¢) Find the area of a triangle whose
vertices are P ( 0, Q), Q(2 0)and
R(0,3). | 2

d) Construct a tangent to a circle of

radius 3 cm from a point on the
concentric circle of radius 5 cm: Write

the length of the tangent by

‘

measuring. 2
5. | @IS T : |
) Fﬁfm x..i:S, xz0 aﬂ"iﬁmﬁﬁq'
X
; : 4
@) o e e, g #f R w0
ot 9 3 e & i F AR & TWKER
B 4
T frafefed SReERar 9RO @1 AME 9
Hifeg : |
| whemm | 500-520 | 520-540 | 540-560
Enianm 12 14 8 J
560-580 | 580-600
6 1oq
4
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¥) fog =i :
| 1) sin60° cos30° —sin30° cos 60°=%

i) tan52 tan60  tan38 tan30 =1
2+ 2

5. Do all the parts :
a) Find the roots of the equation

b —i= 3, x=0. ‘Q\Q 4
p D |
b) In a dght—@d triangle, prove that
the squarey the hypotenuse is equal
to the sﬁ%‘x of the squares of the other
two sides. 4

c) Find the mean of the following

frequency table :

Class-interval | 500-520 520-540 | .540-560
 Frequency 12 14 8
560-580 ~ 580-600
6 10
4
d) Prove that:
i)  sin60° cos30 —sin30° cos60° = %
ii) tan52" tan60 tan38 tan30° = 1
2+2
95751
ooH [ Turn over
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6. W GUS FITT :

¥) TFied de7 F1 oA wa Fior -

T-HRE | 1520 | 20-25 | 25.30 30.35

qERAT 14 56 60 “

35-40 40-45 4550

A s 4
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6.‘ Do all the parts : ; .
Find the median of the following

1 . 822(AZ)

i
| a}
E distribution: | |
Class-interval | 15-20 | 20-25 | 25-30 | 30-35 .
86
Frequency 14 56 60
35-40 40-45 45-50
74 62 48

5

d)

95751

N 4

: Q _

From the top ofa%lo m high building,
the angle of f%?gﬁation of-the top of a
cable tow \(Ps 60° and the angle of

depressign of its foot is 45°. Find the
height of the tower.

(Use V3=1.73] 4

Solve the following pair of equations
using cross-multiplication method :
2x+y=5
3x+2y=8 4

Draw a triangle with sides 5 ¢m, 6cm -

and 65 cm, Construct another

. triangle similar to this triangle whose

sides are %— times of the cor;-esponding

sides of the first triangle. 4
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& I | 6
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e weR % o ) e R -

2 1
=1
3x+y+3x—y

1 __2 _ 3 6
3x+y 3x-y 4°
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v ; ' e by melting the
7. Do all the parts : A solid sphere is made by

. i spheres  of
a) The difference of squares of tyyg three metallic solid sp

numbers is 180. The square of the diameters 12 cm, 1

i > di { this solid sphere.
smaller number is 8 times the larger Find the diameter o |

6
number. Find the two numbers. 6 |

OR

Solve the followitig pairof equations :

2 1
e =1
3x+y Bx-y

822{AZ) - 3,20,000

Y 2
3x+y Bx-y

3
3 6

b) A solid is in the shape of a cone which
is surmounted on a hemispherg of
same radius. If the curved surfaces of
hemisphere and cone are equal, find
the ratiovof radius and height of the

cone. 6

OR
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